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SIProblemset Key
Formalcharge Eachofthesestructures have one or more

formalCharges Indicate theformalcharges
byplacing a or next to theappropriate
atoms onestructurehas nocharges
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LÉÉÉIÉ nmolecularformulas has the number
ofpossible isomers indicated Draw Lewis structures
for all of the isomers Do not repeatstructures
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Hybridization
Give the hybridization of all elementsother

than

hydrogen where an atom has a lone pair or
a charge use thegiven bondangle

to help
determine the hybridization
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BondingRequires sp I
orbitaloverlap
OrbitalSize Sp Ddecreasesfrom
sp Sp Sp
As orbital sizedecreases
theatomsmustmovecloser
togethertomaintainorbital
overlapfor the bond
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As orbital sizedecreases
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